tq := time(0)

prad = 10~ % rad mrad = 10" ° rad pm = 10™ °m nm =10 "m
-3 -6 -9 m .
ms=10 s us=10 s ns=10 s ktz1852h— nmi:= 1852-m °C=K
r
gm - 34 — g watt
c=2.99792458.10°—  h=6.62606876-10 ~ J-s fe = 6378140-m o = 5.670400-107 " ——
s m K
-3 6 -9 -6 -3 .
mi=10"°J MW=10"W nW=10 "W pW=10 "W mW=10 "W time (0) — t4 = 0.1090
Tg= 70K  Ta=49K  Tq:= 22K
Given
w
W W 17—
m.
1120 — = 25— (Tg — Ta) + c-.9-|:(Ts +273K)" - (T, + 273K)4] N (Ts - Td)
2 2 1t
m m K
Find(Ts) = 106.2429 K
Given
w
w w K
m.
1400—=25——(Ts - Ta) + c-.9-|:(Ts +273K)" - (T, + 273K)4] N 1—ﬂ.(Ts T4
m m K

Find(Ts) = 120.3496 K



